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Eli Zegdﬂ)g)ss New Free Download Of Lead2pass 200-310 Real Exam Questions

2017 November Cisco Official New Released 200-310 Dumps in L ead2pass.com! 100% Free Download! 100% Pass Guaranteed!
2017 latest released Cisco official 200-310 exam question free download from Lead2pass! All new updated questions and answers
arereal questions from Cisco Exam Center! Following questions and answers are all new published by Cisco Official Exam Center:
https://www.lead2pass.com/200-310.html QUESTION 426When designing using the Cisco Enterprise Architecture, in which
Enterprise Campus layer does the Enterprise Teleworker module establish its connection? A.  Building CoreB. Building AccessC.
Enterprise BranchD. Enterprise Data CenterE.  WAN/InternetAnswer: E QUESTION 427Which three of these are layersin the
Cisco SONA Architecture? (Choose three.) A.  ApplicationB. PhysicalC. PresentationD. Integrated TransportE. Interactive
ServicesF. Networked Infrastructure Answer: AEF QUESTION 428Y ou are performing an audit of a customer's existing network
and need to obtain the following router information: Interfacesrunning processesl OS image being executed Which command should
you use? A. show versionB. show tech-supportC. show startup-configD. show running-confige. show processes memory
Answer: B QUESTION 429Which of these domain-of-trust security statementsis correct? A.  Segments within a network should
have the same trust models.B. An administrator should apply consistent security controls between segments.C. Communication
between trusted entities needs to be carefully managed and controlled.D.  Segment security policy decisions are based on trust.
Answer: D QUESTION 430When collecting information about a customer's existing network, which two sources will provide the
most accurate data? (Choosetwo.) A. traffic analysisB. customer interviewC. customer-supplied server listD.  existing
network topology diagramE. configurations obtained from network equipment Answer: AE QUESTION 431Which modules are
found in the Enterprise Edge functional area of the Cisco Enterprise Architecture? Select all that apply. A.  TeleworkerB.
WAN/MANC. Server FarmD. E-CommerceE. Internet ConnectivityF. Remote Access/VPN Answer: BDEF QUESTION
432A campus network needs end-to-end QoS tools to manage traffic and ensure voice quality. Which three types of QoS tools are
needed? (Choose three.) A. interface queuing and schedulingB. congestion managementC. compression and fragmentationD.
bandwidth provisioningE. traffic classificationF. buffer management Answer: ADE QUESTION 433Which H.323 protocol is
responsible for the exchanging of capabilities and the opening and closing of logical channels? A. H.225B. H.245C. RASD.
RTCP Answer: B QUESTION 434When designing an EIGRP network, which two things should you take into consideration?
(Choosetwo.) A.  ASN and K values must match.B.  The neighbor command can be used to enable unicast communication.C.
The neighbor diameter cannot exceed a 15-hops limit.D. NSSA areas can be used to redistribute external routes.E. Neighbor
relationship can be established with non-Cisco routers. Answer: AB QUESTION 435I dentify the three items that pertain to EIGRP.
(Choosethree)) A.  Can use multiple unequal paths.B. Routes are redistributed as type 2 by default.C. ASN and K values must
match to form neighbors.D.  Uses multicast address 224.0.0.9 for updates.E.  Exchanges full routing table every 30 seconds.F.
Summary routes have AD of 90.G. External routes have AD of 170. Answer: ACG QUESTION 436Which two are characteristics
of aLightweight Access Point? (Choosetwo.) A. managed viaa central wireless LAN controllerB. code upgrade performed viaa
TFTP serverC.  CAPWAP tunnelsD. managed directly via CLI or web interfaceE. facilitates the creation of its own WLANS
and port mappings Answer: AC QUESTION 437What are three key areas that need to be considered when designing a remote data
center? (Choose three.) A.  power diversityB. active directory servicesC. Cisco |IOSversionsD. data storageE.
applicationsF. user accessG. packet routing Answer: ADE QUESTION 438What is the most compact representation of the
following I Pv6 address? 2001:db8:0000:0000:cafe:0000:0000:1234 A.  2001:db8::cafe::1234B.
2001.:db8::cafe:0000:0000:1234C. 2001:db8:0:0:cafe::1234D. 2001:db8::cafe:0:1234 Answer: C QUESTION 439Y our
supervisor has asked you to deploy arouting protocol within the lab environment that will allow for unequal cost multipath routing.
Which should you choose? A. EIGRPB. OSPFC. [ISI1SD. RIP Answer: A QUESTION 440Where in the Cisco Enterprise
Architecture model does network management reside? A.  Enterprise data center moduleB.  Enterprise campus moduleC.
Enterprise edge moduleD. Service Provider edge moduleE.  Service Provider data center module Answer: B Lead2pass offers the
latest Cisco 200-310 exam questions and answersin PDF & VCE. We promise 100% 200-310 exam pass or full money back (Have
atry- If success, you will get ahigh pay job! Failed, nothing, money back!)! We provide instant download of our 200-310 dumps
after payment so you can study earlier than others! 200-310 new questions on Google Drive;
https://drive.google.com/open?id=0B3Syig5i8gpDUE9zeHd2Y UFFNUE 2017 Cisco 200-310 exam dumps (All 601 Q& As) from
Lead2pass. https.//www.lead2pass.com/200-310.html [100% Exam Pass Guaranteed]
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